MATH 90 FINAL FALL 2007

Answer on the scantran.

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Solve the equation.
1) x4-8x2-9=0
A) {3i, -3i,i, -i} B) {3,-3, i, -i} C) {3,-3,1,-1} D) {1, -1, 3i, -3i}

2) AJ4a-5-4/2a+8=0

A J31 B J21 0 /- 3} py /231
g 5 & B
1.9
3) 1+ - z
1 1)
A) {-10, 9} B) { = 3} C) {-9,10} D) {9, 10}

7+3x) =L
4) 4(7 +3x) T

A) {3} B J i} C) (4> D) {-3}

Write in logarithmic form.
5)32=9
A) Iogs9:2 B) I0932:9 )] I0993:2 D) Iog29:3

Use the quadratic formula to solve the equation.

6) 2x2=-5x- 7
-5 +iaf31 -5-ixf31] 5+A/31 5-4/31
A 4 4 R }
C)f5+ix/ﬁ’5—i»\/3_1\ D)j-5+ 31,-5-J§T
1 4 4 1 4 4

Simplify the expression involving rational exponents.

-4/3
)

256 81 o1
T B) >c6 C) Not a real number D) - 5o



Solve the problem.

8) An airplane travels 700 miles against the wind in 5 hours, and makes the return trip with the same wind in
2 hours. Find the rate of the wind.

A) 245 mph B) 105 mph C) 140 mph D) 350 mph

9) Find f(4) when f(x) = x2 + 2x - 7.
A) 31 B) 1 C) 15 D) 17

Choose the graph that matches the equation.

10) y=-2x-5
A)

Simplify the expression so that no negative exponents appear in the final result. Assume all variables represent nonzero

numbers.
3y-3)3
11) 2X9y
x—2y4



Find an equation of the line satisfying the conditions. Write the equation in slope-intercept form.
12) Through (-3, 8); perpendicular to -3x + 4y = -23
4 3 23 3.4 4
= - —X+ = - —X+ — =—X+ — =—X+
Ay 3x 4 B)y 4x 2 Oy 4x 2 D)y 3x 12
Provide an appropriate response.

13) Use a property of logarithms to evaluate log 721,

1 1
A) = B) 7 C) o7 D) 21
Express as a product.
14) log 39
A)9logb39 B)bloggo39 C)9log, 3 D) blogg 3

Solve the inequality. Give the solution set in both interval and graph forms.
15) 2<-3x+5=<14

765432-101234567

A) [-3,1) B) (-3,1]
————F —————— b ——————
76543210123 4567 7-6-5-4%2-10123 4567
C) (-1,3] D) [-1,3)
IIIIII'III | I i i 1 1 1 III\IIII
1T 17T 1T "71T°7 |||allll IIIIIIE--- L L L
_?—6—5—4—3—2—‘10123456? _?—6—5—4—3—2—10125456?

Add or subtract as indicated. Write the answer in lowest terms.

2 7
19) y2—3y+2+y2—1
py Y12 | 28y - 12
y-1)y-2 Y-Dy+Dy-2
12y -9 9y - 12
OV Dy Dv-2 D) Dy )v-2)

Decide whether the relation is a function.
17) {(_61 _3)1 (_3’ _7)1 (4: 5)1 (5, 7)}

A) Function B) Not a function

Solve the mixture problem.

18) A merchant has coffee worth $3 a pound that she wishes to mix with 50 pounds of coffee worth $9 a pound to
get a mixture worth $8 a pound. How many pounds of the $3 coffee should be used?

A) 30 Ib B) 10 Ib C)5lb D) 60 Ib



Identify the vertex of the given parabola.
19) f(x) = (x - 4)2 - 4
A) 4,-4) B) (-4, 0) C) (0, -4) D) (4,4)

Find (f ° g)(x) for the given functions f(x) and g(x).
20) f(x) =5x + 5 and g(x) = x2 - 2
A) x2 +5x +3 B) x2 - 5x - 7 C) 25x2 +10x - 5 D) 5x2-5



